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¼ÉÁÃÉ ÓÔÒÅÄÎĻÃÈ ÏÄÂÏÒÎĻÃÈ ĤËĖÌ ÎÅÄÏÓÁÈÕÊĭ ÎÁ ĭÒÏÖÎÉ éÉÔÁÔÅċÓËÅÊ ÇÒÁÍÏÔÎÏÓÔÉ 
ÐÏĿÁÄÏÖÁÎĻ ĤÔÁÎÄÁÒÄȢ 0ÒÏÂÌïÍÙ ÓĭÖÉÓÉÁ ÈÌÁÖÎÅ Ó ÐÏÃÈÏÐÅÎþÍ ÏÂÓÁÈÕ ÐÏÊÍÏÖ 
a 
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0ÏÒÏÚÕÍÅÎþÍ ÔÅØÔÕ ÓÁ ĿÉÁË ÄÏÓÔÜÖÁ ÄÏ ͼÖÎĭÔÒÁͼ ÔÅØÔÕȟ ÏÄËÒĻÖÁ  ÊÅÈÏ ÏÂÓÁÈȟ Á ÔĻÍ sa 
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Work in pairs. Read the text
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IþÔÁÎÉÅ Ó ÐÏÒÏÚÕÍÅÎþÍ 
 
¼ÉÁÃÉ ÐÒÁÃÕÊĭ Ó 
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Aktivity ÐÒÅÄ éþÔÁÎþm 
V 
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ªÌÏÈÁȡ 
Connect the following sentences: 
1 Spilled oil can spoil                                                 A carbon monoxide and nitrogen oxid. 
2 If spilled oil gets into the groundwater            B exhaust gases will cause smog. 
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Now the engine is ready for the next cycle, and the first stroke starts again. 
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0ÏÚÎÜÍËÁȡ 
0ÒÅéþÔÁÊÔÅ ÔÅØÔȢ 6ÁÈċÁÄÁÊÔÅ ÉÎÆÏÒÍÜÃÉÅȟ ËÔÏÒï ÐÏÔÒÅÂÕÊÅÔÅȟ ÁÂÙ ÓÔÅ ÓÉ ÓËÏÎÔÒÏÌÏÖÁÌÉ 
ÏÄÐÏÖÅÄÅ ÎÁ ÐÒÅÄÃÈÜÄÚÁÊĭÃÅ ÚÁÄÁÎÉ Ë
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0ÒþÐÒÁÖÁ ĿÉÁËÏÖ ÎÁ ÍÁÔÕÒÉÔÎï ÓËĭĤËÙ Ú 




